Warm-up Key

1.

2. y=-2

3. x=-3

4. (x+4)(x-3),x=-4and

5. Use the quadratlcformulud"'l(5 4L 2 &2\/_8 &22/_2 2++/2
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7. Both domain and range are all real numbers.

8. Domain: (~, ), Range:(—oo,:—ﬂ

9. Domain: [-2,»), Range:[0,)

10. Domain: (~e,~2] [ 2,0), Range:[0,)

11. Domain: (~e0,~1),(-1,9( 1p), Range: (~c0,~4],(0,00)

12. 3

13. 16%2=(16?)’ = £= 6

14. 25

15. (x+8)(x—4)

16. (x-4)(x-6)

17. 3¢ (x-2)+ 4(x—2):( —3(3<2+z)

18. 2(x=1)[-2(x- D+ 1= {x- }(- 2+ 3
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m=%, equations to this Iiney—2=%(x—l), or y—3=%(x—3), or y=%x+—
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D Ix+3+Ux [x+3-x] (x+3)-x 3
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(x=2)-x -2

. 2x=7—T and7—n,so<=59—”,7—ﬂ neliT
4 4 8 8 8 8

a) Domain and Range for both functions dnecal numbers(—oo,oo).

b) f(-2)=-1, g(3)=-5

c) x=-1

d x=1

e) x=-1,1, and :

a) Domain fof is all real numbers, range[is4,oo). Domain forg is all real numbers, range
is [-4,2].

b) f(-2)=0, g(3)=2

c) x=-1.5and 25

d) x=-2.5and 2.5
e) x=-1

a) -3
b) -9
c) -3
d %-5

a) 1
b) 3
c) DNE

d) Vx*+4

a) 3
b) O
c) -1

d) 3-(t-2)°
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-1.879, 0.347, and 1.532
0.564 or 0.563 and 3.071
None

Even

Neither

Odd

Even

Odd

Neither

0, 1.109, and 3.698

0 and 0.876 or 0.877

Om>» @O



